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EXERCISE 1
1. Write Yes or No.

(a)

(b)

(c)

(d)
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There are more butterflies than flowers.
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There are more snails than leaves.
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There are more worms than fish.

There are more chickens than ducks.
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EXERCISE 2

1.
(G) Draw 1 more star.
1 more than 7 is
(b) Draw 1 more flower.
1 more than 5 is
2
(@ Cross out 1 bottle.
00000 @ |
1 less than 8 is
(b) Cross out 1 ledf.
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1 less than 9 is




3. Join each balloon to the correct answer.

1 more

than 9
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1 more

than 6




EXERCISE 3
1. Fill in the blanks.

(@)

(b)

(©)

(d)
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Thereare ____ more flowers than vases.
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Thereare _ more bicycles than cars.
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Thereare ___ more mice than cats.
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Thereare __ more children than umbrellas.
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2. Fill in the blanks.

Peter’s
balls

Matthew’s
balls
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has more balls.

Lily’s
buttons
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has more

Dani’s
buttons
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toy boats than lan.

beads than Taylor.

He has more buttons. She has
balls. more buttons.

Ryan’s lan’s Sara’s Taylor’s
toy boats toy boats beads beads
Ryan has more Sara has fewer




EXERCISE 4

1.

There are fewer balls than bats.
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Mary’s flowers Jane’s flowers

How many fewer flowers does Mary have than Jane?

6 — 4 =

Mary has fewer flowers than Jane.

Set A Set B

How many more rabbits are there in Set B than in
Set A?

8 — 4

There are D more rabbits in Set B than in Set A.
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EXERCIS
1.

ES5

There are

How many more oranges than apples are there!?
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more oranges than apples.

There are

beads altogether.
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How many boats are left?

7©2=

boats are left.

Dani’s books Ryan’s books
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How many fewer books does Dani have than Ryan!?

1oQ7=

Dani has

fewer books than Ryan.
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EXERCISE 6

1.
p\rl read 8 books. ] { | read 6 books.h

(@) How many books did they read altogether?
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They read books altogether.

(b) How many more books did Adam read than Haley?
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Adam read more books than Haley.
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@e 4 pencils.

| have 3 pencils.

Susan Jamie

How many pencils do they have altogether?
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They have pencils altogether.

| have 8 marbles. @qve 2 mar@
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Joe John

How many more marbles does Joe have than John!?

O[] =

Joe has more marbles than John.
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